World Population and the Tragedy of the Commons

Introduction: 

In the 1968 essay “The Tragedy of the Commons,” Garrett Hardin takes a careful look at the population problem. He begins by asserting that the population problem has no technical solution. 
Hardin then argues that the optimum population is less than the maximum population for the earth.

Hardin asserts that freedom in the commons, particularly with respect to world population, will inevitably lead to environmental degradation, to tragedy for us all. 
He dismisses the effectiveness of appeals to conscience for the purpose of limiting population, and is wary of the dangers of trying to legislate temperance in the matter of reproduction. 
Nevertheless, Hardin concludes his argument by advocating “mutual coercion, mutually agreed upon” as a strategy to limit population. Hardin believes that we must recognize the necessity of relinquishing the freedom to breed; only by adopting that strategy can mankind avoid the tragedy of the commons. 

Hardin’s essay about overpopulation is notable for that fact that it contains no population data. For this activity, you will graph the world population data on excel and, using the best fit line, project the population until 2050. The world population data below are from the United Nations. 

	Year
	World Population (in billions)

	1900
	1.65

	1910
	1.75

	1920
	1.86

	1930
	2.07

	1940
	2.30

	1950
	2.52

	1960
	3.02

	1970
	3.70

	1980
	4.44

	1990
	5.27

	2000
	6.06

	2010
	6.79

	2018
	7.7


data source: http://www.un.org/esa/population/publications/sixbillion/sixbilpart1.pdf 

Graphing: 

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	


Watch the videos on Tragedy of the Commons-chalk talk on my website:

https://www.youtube.com/watch?v=KZDjPnzoge0
https://www.youtube.com/watch?v=IVwk6VIxBXg
What will happen to the commons if we continue our population growth as projected in your graph?  Provide at least 3 examples of commons and what will happen to them if we do nothing.

	

	

	


Provide at least 2 ways we can prevent the Tragedy of the commons from occurring.

	

	


In the space below, explain what each underlined statement above means.








